EARAROBEEIERT — 2 N— IBISH —F

20135 7H 138 (£) 4EIEERI1H

m/\—\ﬂj‘—xju k5% 3% \ (] 8 \ (sl — | 4 (%) 1000 F&
[A&4] 1 3% :1,500,000 23 :300,000  ~ 33#%&:150,000 @ 4 3#&:105,000 @ . 5 7&:45,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= . _ _ H= 5
1 6l Vav/a2royny # 3 5561%1‘& o.(s_g).e 2-1 3.8 2 | 454 i,?é%;‘_“ (KiR)
LTANFRFL2 BTUEAZ k- B e TR X
- . FHRREA :00. = . = =HEE (KR)
207|9|72YTv>a R 1?3%1 M ° f:) EEI
LT RIAYI VIR BIIA—HTT PNEF 45
N N N #HER : - — ERE (KR)
35|5| Teny Tt w s | 4% I B I R
L:TUBAZIIPE B:T7LyPaIRY il
5 4t 3 | B 1:00.5 9-5 36.5| — 6 444 |BREAZ (KR
41810 29 JSF=48= 54.0 (3/4) -2) TR ’
RTRIAY T v NS BT A —T =54
5 N i3 | BEINIE 1:00.7 1-3 37.0 — 4 452 | ERAE (KR)
5(1/1|¥af1v>y 54.0 (1 1/4) © | _B) TS
R:TTyIR—T BiFvIU-—> DS
= s KIFIE :01. — . — IEEEE (BE
61708 Y5445 4 3 2o 1(021)0 8-8 36.1 5 ?f; By
R:TTvI8%Y—F B KRETUL R B 77—54
. N LA :01. — . — HRIEZRI (AKR)
7N 3| NTAT) )= b 'S 56.0 1(01')2 66 %.7 ! <4+710) g,;;m 7
2% = MHAMY— BiE1—-WTL— BER BB
QN o3 | THF 1:01.2 5-4 37.2| — 1 572 | BHZ (KR)
s N 4 KZd2FH L4 56.0 (74<) (-2) 7(%1%*[19&/
R:707% BUSHIARELF =AREKS
N T 4 3 | mBRE 1:01.4 7-9 36.5| — 8 532 | BREE (KiR)
o 7| I AN 56.0 3/4) Lo | KAmAR
Rix>ind4o— B:FLT4—3% B BA
= - EiREE :02. - . = Al (KR
10 1 AhSF v TFo 4 3 = 1 (042)1 4-10 37.2 10 (ﬁg) E&igm
RF v TFLRTF 4= BINZRZb—1— B/E77—L
N ROE— : - - HRIEZRI (KR)
1B 2 o Ny TH 4 3 &0 (17;0;;) 1-11 36.6 1 (436) ﬁé%— 7
LA LNTyTIE BTANRINY Y KT
® I —F—@EBIERL
13—7+—
230—7—
Jol=5r= 1,6,9,11,4,3,7,8,10,5,2
40—+ — 6,9,1,4,10,3,5,8,7,11,2
[ N3
B OB 6 310H 714K 6-9 3,000 % E 6-7 1,770M 3EHE 5-6-9 14,070M
8 B 6 200M 5-6 330M B & 6-9 11,220 K31 6-9-5 83,280
9 680M 5-9 2,060/ B H 6-9 19,380M
5 210H

ABICOVWTRDTEEERROODE. TR LIV,




